30.04.20 Answers

1)37+3=12R1
2) 91+ 4=22R3
3) 65+ 2 = 32R1

4) 94 +3=31R1

5)71+3=23R2
6) 97 + 3=32R1
7)90 + 8 = 11R2
8) 86+ 4 =21R2

9) 117 +5=23R2

10) 91 + 3 =30R1
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| can solve multiplication and division problems using the grid method and chunking.

1) Simon has 48 DVDs in each rack. He has 4 racks. How many DVDs does he have altogether?

2) Josh collects 68 points per level on his game. He completes 8 levels. How many points does he
have altogether?

3) Miss Cowen has 97 strawberries for her class. Each child is allowed 3 each. Are there any left?
4) Mrs Miller has 99 glue sticks to divide between 3 classrooms. How many will each class get?
5) Ally runs 90 minutes a day for 6 days. How many minutes did she run in the 6 days?

6) 18 children go camping. Each tent sleeps 3 children. How many tents will they need?



